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Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will themself be responsible for filling wrong
Roll No.

2. At the start of the examination before attempting the
question paper kindly check your test booklet and OMR
Answer Sheet and ensure that

e The serial numbers of test booklet and OMR answer sheet
are same.

e All pages of test booklet and OMR answer sheet are
properly printed. All questions from 8. No. 1 to last S. No.
120 are printed and pages from S. No. 1o last S. No. 24 are
there in the question booklet.

In case of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of test booklet and OMR answer sheet. No claim / objection in
this regard will be entertained after five minutes of start of
examination. Candidate will be liable for it.

3. Answer all questions,

4. All questions carry equal marks.

5. Only one answer is to be given for each question. If more than
one answers are matked, it would be treated as wrong answer.

6. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

as (A), (B), (C), (D). You have to darken only one circle or
bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

8. Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material found with any candidate,
strict action will be taken against him/her as per rule.

9. If there is any sort of ambiguity/mistake either of printing
or factual nature in Hindi and English Version of'the question,
the English Version will be treated as standard.

Warning : [fa candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Section 3 of the State Prevention of Unfair

Means Act, 1992 and Board Regulations. Board may also debar
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him/her permanently from all future examinations of the Board.
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Which institution releases the periodic

Greenhouse Gas (GHG) bulletin ?

(A) Food and Agricultural Organisation

(B) Indian Institute of Technology,
Madras

(C) World Meteorological Organisation

(D) National Institute of Ocean
Technology

®E W T Ete fiveee

(Shoesht) g sl s & 7

(A) @ AR HR e

(B) SR Srenfirehy s, wgr

(C) Torva iam fargm dre

(D) g TgrErR henfrh vem

Which institution released a report titled
‘Digital Economy Report 2021’ ?

(A) UNCTAD

(B) UNESCO

(C) WTO

(D) World Bank

fora deam ¥ “feforew s Rdvé 20217

(A) 3rhers (B) Tt

(C) Tva =R @B(D) fava %

Which city has become the world’s first
government to go completely paperless ?
(A) London

|

!

i
(B) Dubai g
(C) Moscow ‘ 5
(D) Paris
a1 e g e v el §
aﬁvsvﬁmg:ma‘?% ? |
(A) e (B) gwé |
(C) =t (D) |

2

S

What is the rank of India in the inaugural
Global Drug Policy Index, released by
the Harm Reduction Consortium in
20217

(A) 21 (B) 18"

(C) 15 (D) None of these
2021 T g Treawm sHeféam gro i wem
e g o S Y 7
(A) 2191 (B) 18at

(©) 154 (D) FHARE 7

"Operation Sard Hawa" was carried out
by BSF in Rajasthan espec1al]y in
Jaisalmer region from

(A) January 23 to 28, 2022

(B) January 26 to 31, 2022

(C) January 21 to 26, 2022

(D) None of these _
T A RRIY 1 @ Sgeir &y A
m -

(A) 239 28 Sad), 2022

(B) 26 9 315Fed, 2022

(C) 219 26 S=ad, 2022

(D) ¥ 8 =g 7

In which districts Panchayat Elections
were held for 106 Zila Parishad
members, 568 Panchayat Samiti-
members, 4 Zila  Pramukhs/Up-
Pramukhs and 30 Pradhans and /Up-
Pradhans ?

(A) Baran, Karauli, Ganganagar Kota
(B) Jaipur, Alwar, Kota, Jodhpur

(C) Sirohi, Dungarpur, Banswada, Kota
(D) None of these

T fedt 7 106 e wftwe wewd, 568
vera wfufy wee, 4 fren vl /sa-
sH@Et 3R 30 v 3i/Su-gunl & R

T YA g Y ? |
(A) T, HUeH, TR, HieT

(B) SFIG, TR, HIe, UG
(C) frigh, Sy, staams, s

©) T AR o
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In - December 2021, which ministry

announced the launch of the Azadi@75

star fating protocol of garbage free cities-

Toolkit 2022 7

(A) Ministry of Environment and
Climate Change

(B) Information and Broadcasting
Ministry

(C) Ministry of Housing and Urban
Affairs

(D) Ministry of Tourism

fegst 2021 A, e Huem™ 3 AU U

Wﬁ%m @75 ®R en g -

o 2022 1 w0 6 S 7

(A) wEterReT ST STy Tie wee
(B) TEAT 3T TEROT HETEE

(C) arraTe 3Nyl arHe! % HATer
(D) e T

Who has been appointed as the new Chief
Justice of Raj asthan High Court ?

(A) Akil Kureshi

(B) Raghvendra Singh Chauhan

(C) Mohammad Rafig

(D) None of these

TR 3 A % ¢ & i

% w9 o ford frges R g 9
(A) e Hah

(B) T, g <Egm

(C) wrgmTE Thish

(D) w?fé@é;@

LT A0 TS Wi LS PR EIEBARSY AN DRSS WG TS

10,

On the completion of three years of state
government, which of the - following
schemes were launched by the Chief
Minister of Rajasthan 7

(A) T am Shakti Udaan Yojana

(B) Jagriti-back to work scheme

(C) Both (A) and (B)

(D) None of these

U9 TLHT 3 o AT G & O TS o5

Wmﬁm&%ﬁ@aﬁqﬁm
FEH A 7

(A) # e 3gm IS

(B) S~ amae A

(©) (A)3R(B)T

(D) 57 Qi 7

Which of the following appointments is
not made by the President of India ?

(A) Chief Justice of India

(B) Chief of the Army

(C) Chief of the Air Force

(D) Speaker of the Lok Sabha

forferRaa o @ = < frgfte sra S agafe
EREREIE G

(A) I % G&T AT

(B) &1% Tq@

(C) & % wE

(D) T T & A

Which of the following leads to
termination of session of house ?

(A) Prorogation

(B) Adjournment

(C) Adjournment sine die

(D) Dissolution

frerfafea § @ feuss wRo 9ed &1 W
TTH B T 7

(A) GaEEH

(B) ®TH

(C) ffPaa wier o fog v

(D) feres




12.  Who among the following has the power

13.

14.

- {(C) 92

to form a new state within the Union of
India ?

(A) Supreme Court

(B) Speaker of Lok Sabha

(C) Prime Minister

(D) President

freafafea o @ Reass ara wia w9 % et
TS T T T A IRA R 7

(A) gim (B) ¥ | 31608

(C) s (D) Ugafa

Which Section of the Rajasthan
Panchayati Raj- Act, 1994 has been
amended to substitute the expression
Village Development Officer for Gram
Sevak ?

Ty gEREE o9 sthifEm, 1994 &Y
Torg om0 ) T SEeh % T WO e
arftrprlt gftreenfa @ & fag 9o
[ERIRICIE
(A) 91 (B) 89
(D) 88

Who among the following can attend
meetings of the Union Cabinet ?

(A) Cabinet Ministers

(B) President

. (C) Ministers of State

(D) Deputy Ministers

frfefen & @ 2 Fda whrga H Ja=i
9T R a7
(A) Ffgae 5=h
(C) T T

(B) Tgufd
(D) 3u s

15. The President can proclaim emergency

16.

on the written advice of the

(A) Prime Minister

(B) Speaker of Lok Sabha

(C) Union Cabinet headed by the Prime
Minister

(D) Chief Justice of India

Tyafy feashl ffea gemg w saTasTe

HOE T EHIE 7

(A) o

(B) ¥ U1 eAs

(C) werre=ht &t Sreagrar & hefta whmew

(D) WRE % qea =rarefis

Which of the following powers is not

enjoyed by the Chief Minister ?

(A) Chief Minister appoints judges of
the state’s high court. ,

(B) The Governor appoints ministers
only to those people who are
recommended by the Chief Minister.

(C) Chief Minister shifts all the
ministers’ departments,

(D) Chief Minister can ask the Governor
to dissociate the Legislative
‘Assembly.

Frfafea & @ =5 o wive gendsh % e

EEA |

(A) gETEEl TS % I e %
- =it ) gl s R

(B). TSI1et et 3 @t ) ue) Frafe
et & R qeish g R )
STt /|

(C) et wf) it & Rpwit ) wgeran
5

(D) el Tsuure ¥ fRum-wdr W
Refta s & P sgawarg |

17.

18.

Who appoints the Advocate General of
the State in India ?

(A) Chief Minister

(B) Governor

(C) Spesaker of the Legislative Assembly
(D) None of these '

o Tsa % uEileer i Rgie wh

IR 7

(A) T

(B) TSIUTA

(C) TaurranT & sream
(D) T @ I TEl

Which Article states that the Council of
Ministers is collectively responsible to
the Legislative Assembly of the State ?

(A) Article 174
(B) Article 184
(C) Article 164
(D) Article 194
fopm arg=de ® v T 7 e AR
afes ®9 § TS H Ry @ % g
JegrR Bt B 7
(A) 3BT 174
(B) T[T 184
(C) AT=T 164

19.

20.

AR T TS TR RS WS SAAIYS TS TS RIS YRR

Which of the following amendments to

India

Constitution  of grants a

constitutional status to Panchayati Raj
System ?

(A) 75" Amendment

(B) 73" Amendment

(C) 71° Amendment

(D) 72™ Amendment

wie % dfeym o Fafafea § @ 9 @
e Tl TS SAEET S HIYT gl
TEH HT R 7

(A) 759 GmEE

(B) 738 wanem

(C) 714 Ty

(D) 72t wEe

Which of the following system is
established on the basis of the direct

election 7

(A) Bloqk Committee

(B) Gram Panchayat

(C) Zila Parishad

(D) None of these
frefafea § & #1 s TR
% YR YL TR ot SIreft & 2
(A) s Ty "
(B) TTH IR

(C) Torem uftwg

(D) T & 1 78



21.

22.

23.

Pir Panjal range in the Himalayés is a part
of

(A) Shiwalik

(B) Trans Himalaya

(C) Central Himalaya

(D) Lesser Himalaya

Togwrere # i dorrer Soft 1 TH
Cius S

(A) Rrarfees (B) uR-fewrer
(€) weafemrem (D) &g femme™

Which State shares its international
border with Bangladesh and Myanmar ?

(A) Tripura (B) Assam

(C) Mizoram (D) Meghalaya
S o1 Tey o Aty i sy
3 =TT S | TS H 8 7

(A) fgu ®) o

(C) freiw " (D) Derey

Duncan passage is located between
(A) North and Middle Andaman
(B) South and Little Andaman

(C) Middle and South Andaman
(D) Little and Great Nicobar

o AT FdaREe|

(A) I 3R ALY IEHM

(B) efiqor 3fic vy sigum
(C) wem 3R o Heam
(D) fafew dg Iz faiaR

24, Which among. the following is the

25.

26.

highest peak in the Eastern Ghats 7
(A) Ooty

(B) Mahendragiri

(C) Anai Mudi

(D) None of these

e 3 & e B TR S S &
(A) &

(B) wEgfi

(C) ¥FTE HEN

(D) & & g TEl

Most of India’s rainfall is

(A) Convectional (B) Orographic
(C) Cyclonic (D) None of these
W <t e awt 71

(A) werEt

(B) wad
(C) Twardl
(D) T wid T

Which type of forests occupy the highest
percentage of area in India 7

(A) Equatorial Evergreen

(B) Tropical Deciduous

(C) Savanna and Desert Vegetation

(D) Tropical Rainforests -

e 8 R TR & aHl 61 S
s § 7

(A) SHERE HEEER

(B) Swiesfeseha goiare

(C) wa 3R e el

(D) Iwrsfesey sufeq

27.

28.

29.

Rooftop ~ Rainwater harvesting is
compulsory in the state of
(A) Tamil Nadu (B) Haryana

(C) Assam (D) Rajasthan

_ gen o ai-e S e L
(A) Tty (B) B

(C) rEH (D) TSI

Which of the following is/are chief

characteristic/s of mixed farming ?

(A) Cultivation of both crops and food
crops

(B) Cultivation of two or more crops in
the same field

© Reafing of animals and cultivation
of crops together

(D) None of these

Preferfaa o @ =i < fafta SR H =

a8/ 7 |

(A) FEe 3T HES G h Tl

(B) T & @ i & a1 31 wee! @t

(C) Tg-ure I wEe! o Gl qY-EY

(D) 398 @ g el

The kinds of plants that grows in hot
desert includes

(A) tough grasses and short bushes

(B) elephant grass and cacti

(C) mosses and lichens

(D) pine and cacti

mf Weam § o @ fel F oyl A
RHIER

(A) T ¥ TR A gt

(B) Eeft o 3 Hfee

(C) T8 (Wie) 3R T

(D) UTE ST BT

T ST ASIMS VRIS TSRS WAL NI TN

30,

31.

|32,

Which of the following industries is/are

to be given compulsory licensing ?

(A) Electronic Aerospace and Defence
Equipment

(B) Industrial Explosives

(C) Hazardous Chemicals

(D) All of these |

Profafgn & @ R sEw/IERl w

st e fer ST R /8 ¢

(A) TR TIEIE I W& TR

(B) 3N frewies

(C) TaAETH WA

(D) s udl

National Council of Science Museums
(NCSM) has set up Science Centre in
Udaipur, located in which state ?

(A) Assam

(B) Tripura

(C) Arunachal Pradesh

(D) Jharkhand

T o wETer wig (TRicae) 3
fora Tsa o @ Seup # REw & B
AT R ?

(A) IrEm (8) Pgu
(C) = R (D) FRGS

Which of the following Rajasthani style
of painting resembles the
Chaurapanchsika style ? '

(A) Kishangarh Style

(B) Jodhpur Style

(C) Bikaner Style

(D) Mewar Style

frfofga o & B9 @ goerr fEmen

et it Heh A Prereh et 2 7
(A) frrm deh  (B) Shaq el
() e el (D) JaETE A



33.

34.

Who made the construction of ‘Hawa- |35, Khoh Dariba region of Rajasthan is

Mahal’ ?

(A) Sawai Jai Singh

(B) Sawai Pratap Singh

(C) Raja Uday Bhan

(D) Raja Man Singh _
“gaT-uge w1 v foree a7 7
(A) waTs SafE

(B) HaTE YIS

(C) TSI -

(D) T 9ARIE

What is ‘Pawra’ in Rajasthani Literature ?
(A) An alankar used for prose
B) A

special work of braves

composition describing the

(C) It is used for ‘Shringar Ras’ in
literature

(D) Word used for derivation cadre

T g § ue e 7

‘(A)w%%qm%maﬁww

JTAH |
(B) W@%Wweﬁm Ui T )
AT |
(C) T wam afEea 9 IR @ % frg
| ﬁs'ensrra"r%_a
(D) =gt st o forg e w1sg |

36.

associated with the mining of which
among the following ?

(A) Silver

(B) Manganese

(C) Lead and Zinc

(D) Copper

ey % @E ehw 8 Prefeiea 9 9

fFes @ AT R ?
(A) =i

(B) HS

(C) dar i s
(D) dfs

Which of the following rivers is the
source of water for the Rajasthan Canal ?
(A) Ganga

(B) Sutlej

(C) Yamuna

(D) Ghaggar

Frrforfea 3 9 i 7 ToRT T H

Ruaa s Eag ?
(A) T

(B) A

(©) =gn
(D) ¥R

The fertile tract of the Rajasthan plains is
known as by which of the following

name ? .
(B) Ghaggar

(A) Rohi

(C) Chars (D) Dhaya
T % deFl % IWTe 89 %
freafrfea i a e T I ST AT 8 7
(A) UfE (B) TR

(C) =g (D) &

s 109A

38.

- (D) None of these

39,

40.

109A 2,

When did Rajasthan Govt. adopt Wildlife
Protection Act, 1972 7

(A) 09" September, 1972

(B) 01% September, 1973

(C) 01% December, 1972

TR SRR A Ty Tt s,
1972 =1 =& 3t o ?

(A) 09 foasw, 1972

(B) 01 firsr, 1973

(C) 01 @R, 1972

(D) T § 1 TE

The Jhamarkotra mines of Rajasthan are
best known for which among the
following minerals ?

(A) Rock Phosphate

(B) Zinc

(C) Lime Stone

(D) Mica ,

TR i SIS 61 @eH efaiad
Hufru et s kg ¢

(A) Tswigse  (B) =

(C) Fraer (D) w=t

In which district the maximum wheat is
produced in Rajasthan ? ‘
(A) Udaipur

(B) Sri Ganganagar

(C) Jaipur

T 8 waiiEs 1E & Sered fea R
AR 7
(A) STIL
(C) sag
m

B) sfrrmmr
(D) T4 9 HIE 78

9

41.

42.

43

§A .

|

|

|
(D) None of these g

|

|

3

g

Sir Hughe Rose described whom as ‘the
best and bravest military leader of the
rebel’ 7

(A) Kunwar Singh

(B) Rani Laxmi Bai

(C) Begum Hazrat Mahal

(D) Bahadur Shah Zafar

WY 7 5 “Torgie =1 waw arssT 3k
HeH SETGL A= a1 waw 7

(4) g fog

(B) T @t Ag

(C) ST &I e

(D) TG ITE ST

During the times of 1857 revolt,
Rajasthan was divided into
British Cantonments.

1857 % REie & T ToRUE A
Tafen wmafa o fRenfya e ar )
(A) 5 B) 7 |
©) 6 D) 8

Governor General who started the pdlicy
of “Subsidiary Alliance”

(A) Lord Dalhousie
(B) Lord Wellesly

- (C) Lord Canning
(D) Lord Curzon

IEH
(A) TS sordoh
(C) wTE Hfm

(B) 7S dorTelt
(D) TS o



44.

45.

(B) Jyotiba Phule

- II. He founded the Brahmo Samaj.

Who among the following was popularly [46. Who of the following had observed that

known as ‘Lokahitawadi’ ?
(A) Pt. Ishwar Chandra Vidyasagar

(C) Mahadev Govind Ranade

(D) Gopal Hari Deshmukh

forforRen o @ RF ‘Telgaard)’ & W
ST STAT 9T 7

(A) | Svarag R

(B) e ot

(C) weTeE Mg TS

(D) e gR SxgE

Which statements with regard to Raja
Rammohan Roy are correct 7
1. He wrote “The Gift of Monotheists”.

[II. He started the Atmiya Sabha.

IV. He published “The Precepts of Jesus”.
(A) LIl and IV

(B) 1, 11 and III

(C) 1L, 111 and IV

(D) All of these

TSI THHATE T % G899 | HiF 8 S T

g7

L 3R “e fe wife madse” R | %

I S8 ST&T ST ol SITaeT <Y | |
I 38H A e s e fear ) |
IV. R “ ftes aTie Shem” SRR |§
(A) 1, 11 3IRIV |
(B) L 1131 5
(C) 1L, HIHARIV g

é

(D) F o

10

47.

i 48.

“Good Governor is no substitute for the
self-Govenment” ?

(A) Lokmanya Tilak

(B) Rabindranath Tagore

<) Swami Dayanand

(D) Swami Vivekanand

 Prfafas § & Reed Y@ on B “arm

TSIYTS TSI %1 foreq TE 87 7
(A) THaT foeTe

(B) wilgamy 3R

(C) @ garg

(D) @ R

Gandhiji took back Non-Cooperation
Movement in

(A) January 1921

(B) February 1922

(C) March 1921

(D) February 1920

TSl Y RN eI e S for 7

(A) Sl 1921
(B) w1922
(C) wurd 1921

(D) ww&dl 1920

When did Mahatma Gandhi make his
major public appearance after returning
from South Africa ?

for 3rsbYeRT & wred 3 wTg HeTen et 3
FO T wrEsTe Sufefy we st ol 7
(A) 1915 (B) 1914
(C) 1916 (D) 1918

[
l% 109A

49,

50.

51,

Which of the following was the first mass

movement led by Mahatma Gandhi

against the British in India ?

(A) Non-Cooperation Movement

(B) Khilafat Movement

(C) Civil Disobedience Movement

(D) Quit India Movement

fafafga # @ =9 @1 vy 9 3OS 5
Regeme mgrem meft % Age@ § g S
TGS AT 7 '

(A) ITEEA

(B) Tawrsa e

(C) afer Ira SAEeH

(D) WA B! AgeH

Freedom fighter Hiralal Shastri was from
which district of Rajasthan ?

(A) Jaipur (B) . Bikaner

(C) Udaipur (D) Kota

e S e wrel Tore % fre
e ?

(A) SR (B) S

(C) FIR (D) el

Which of the following is the first
Peasant Movement of Rajasthan ?

(A) Eki Peasant Movement

(B) Bijoliya Peasant Movement

(C) Begun Peasant Movement _
(D) Dudwa Khara Peasant Movement

et § O o™ w1 Uy RrEE ITReH

CFeEd 2

(A) T ReaT e
(B) Torshferan fpam aridlem
(C) ] frem e
(D) gea @ e stidiem

1004 Bk

D oAb NS WY TGRS TATIE S RIS SANAAG TR D VOB
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52.

53.

54.

Who was the main leader of Marwar
Peasant Movement ?
(A) Jai Narayan Vyas
(B) Vijay Singh Pathik
(C) Motilal Tejawat
(D) None of these
TRETS A STTEIeH 1 TE el & o7 7
(A) S TR S8
(B) ooy fg alme
(O IGSIGKEIES]
(D) ¥ & I T
Massacre is. called the
Jallianwala massacre of Rajasthan.
(A) Sikar (B) Nimuchana
(C) Deedwana (D) None of these
THER ) TERAT T AAATETEA
BOATHIE HET ST R |
(A) HeR
(B) e
(C) Ereamn
(D) & & &g 7l
Who was the notable female leader of
Sikar Movement 7
(A) Dhaapi Dadi
(B) Kishori Devi
(C) Janki Devi Bajaj
(D) Anjana Devi Chaudhary
et e 6 IeergH 9igen Ja B

off 7

(A) urdt gt

(B) feruiidt <&t

(C) e eeft s
(D) 3T et =herdt



55.

56.

57.

- (C) Krishna Dutt Paliwal

- (C) Fw1 e ureliae

“in 1905 in Jaipur ?

Who was the first chairman of ‘Dholpur
Prajamandal’ 7

(A) Manikya Lal Verma

(B) Vidhi Shankar Trivedi

(D) Master Adityendra
‘fierqe Tomiee’ % YYUH FAWFHA Y 7

(A) Wi wre st
B) fafty st Bl

(D) &R ey
Who established Vardhaman Pathshala

(A) Major Shaitan Singh

(B) Gulab Chand Kasliwal 59.

(C) Master Bholenath
(D) Arjunlal Sethi
1905 & Sy & SEHAT ST H T

foraa Y oft 7

(A) Wor Srar fig

(B) TETE W HIEEER
(C) UTET TS

(D) Frierer el |

Which of the following was built by
Rawal Jaisal Bhati ?

(A) Bikaner fort (B) Bhatner fort
(C) Sonnar fort (D) Ranthambhor
frefafaa # @ Reess fain tew Sw@

U 3 SHEmT o ? %
%
|

(A) sesrR w1 fver (B) Weat w1 e
(C) e frer (D) wEmIR
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60.

58. Which among the following fort of

Rajasthan is called 'Suvamagiri ?
(A) Fort of Jodhpur

(B) Bundi Fort

(C) Fort of Jalore

(D) Ammer’s Fort

oI % Prefafies o 9 fem et =)
v g rar g ?

(A) g 1 Fepen
(B) & =1 foper

(© ST <1 e

(D) ST feem

The character playing the “Rammat” folk

drama are known as

(A) Shiva (B) Bhavaiya

(C) Khelars (D) None of these

“Te” wE ARE W R W U
FEGH A IR |

(4) = (B) wern

(C) TR (D) 57 Q HE &

Chari folk dance is mainly performed in
which district of Rajasthan ?

(A) Kishangath  (B) Alwar

(C) Jaipur (D) Jodhpur

w0 T T T8 §9 ¥ TSEIH % e
R g ?

(A) Termg (B) 3aTER

(C) a3t

61.

62.

63.

Name the gland which controls blood
pressure.

(A) Pancreas gland

(B) Thalamus gland

(C) Adrenal gland

(D) Thyroid gland

T o e e areh) Tifr e waEe |
(A) FFEERTNY (B) domE Ul
©) FRgmaf (D) s Il

A collection of tissues to provide a

function is known as

(A) organ (B) tissue

(C) cells (D) muscle

T T TG BT o A Serchi & GIE i
ey dwEEE e |

(A) 30 (B) e

© wftd (D) wE

Which system is responsible for bringing
food and oxygen to every cell in your
body ?

(A) Circulatory system

(B) Reproduction system

(C) Excretory system

'(D) Respiratory system

Fmashs T 6 T i § WeE IR
oo e 35 R e o S 7
(A) ThEEfEE (B) SO

(C) Swedn (D) @A EA

109A ;
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64.

65.

66.

67.

13

The external or internal framework
which provides support to the body is
called .

(A) skeletal system

(B) respiratory system

(C) nervous system

(D) digestive system

el = Al gler ) TR S 9E ugH
R, HEATE |

(A) FHT T (B) Ya&A @

(C) e & (D) U= o

is caused due to the
deficiency of Niacin.
(A) Pellagra
(B) Pernicious anaemia
(C) Rickets

(D) Scurvy

R e Swmaat )
(A) Yemn (B) s TERTET
(C) Ferew (D) &t

Scientific name of Vitamin K1 is
(A) Tocopherol

(B) Phytonadione

(C) Ascorbic acid

(D) Pantothenic acid

Ry K1 S R

INRAE R T (B) WRAEEA
(C) writw TRiE (D) Tadfes ufas

Which of the given metals cannot be
extracted using smelting ?

& 8 urgatt § & Rew urg B e @ e
Preen s awaT | ?
(A) Fe (B) Al
(©) Zn (D) Pb
&



68.

69. Which of the following are called

70.

FrafeRea o e SRRiem SR §

Creatinuria is caused due to the

deficiency of vitamin

B fe Tt 1 it 3 v
BT e ?

(A) E
©) A

(B) D
D) K

macronutrients 7

(A) Iron, manganese and copper

(B) Boron, chlorine and nickel

(C) Nitrogen, phosphorus and potassium
(D) Molybdenum and zinc

(A) wier, S oft e

(B) &I+, woir ik feer

(C) TSI, BB 3R Tefrem
(D) Tiferegm 3k i

Which of the following are the examples

of Polysaccharides ? : 73.

(A) Glycogen, starch

(B) Cellulose, starch, glycogen, heparin

(C) Cellulose, starch, glycogen

(D) Cellulose, glucose, sucrose

|
|
g
iRy & S diehdres  semmE 7 |
(A) TSR, T §
(B) Vi, e, g, 3RA |
(C) I, T, TTgehion g
(D) SIS, IS, Gohr |
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71.

72.

Amylases in saliva begin the breakdown
of carbohydrates into

(A) Simple Sugars

(B) Amino Acids

(C) Polypeptides

(D) Fatty Acids

R A THIEAS HIEIEEE H1 g
TATTEFQ E |

(A) YT 5T

(B) W wltrs

(C) wiehuerssa

(D) % ufyre

Pulses are a good source of
(A) Fats

(B) Proteins

(C) Vitamins

(D) Carbohydrates

T ST T 3750 T &
(A) s&1 (B) 9
(C) Trefim (D) wraTEEee

Blood Group is classified on the basis of
(A) Rhesus factor

(B) Haemoglobin content

(C) Antigen and antibody

(D) None of these

&€ g9 W e
R e ST B |

(A) Gua et

(B) Errenfem amn

(C) T 3@t

(D) FH A HI T

& IR

E’“% 109A

74.

75.

76.

Globulins of the blood plasma are

responsible for

(A) Blood clotting

(B) Defence mechanisms
(C) Oxygen transport
(D) Osmotic balance

TEh TSI % Teiegor f3hees forg e
BT ?

(A) TF S U5

(B) e

(C) Tl it

(D) TURRT Fger

What part of the blood carries minerals,
vitamins, sugar and other foods to the
body’s cells ?

(A) Plasma

(B) White corpuscles

(C) Red corpuscles

(D) Platelets

T &1 @ o1 9 whhe, el weu

3 = wr verf o) ol Y Sl
T T R 7 g
(A) ST (B) &% HivEsTd

(C) e SR (D) wHeHH

The antigens for ABO and Rh blood

groups are present on .

(A) Red blood cells

(B) Platelets

(C) White blood cells

(D) Plasma

ABO 3R Rh & @qgl & fog wfeem
ARG RS |

(A) TS Th HINERIY

(B) weieH

(C) TT T I

(D) wIr=HT

109A Eﬁ%
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77,

78.

Emission of which one of the following
leaves both atomic number and mass
number unchanged ?
(A) beta particle

(B) neutron

(C) alpha particle
(D) gamma radiation

Frefafiga 4 @ fros Ioc @ 9@
g7

(A) e wm
(C) A B

(B) =EH
(D) et fafeor

Which describes nuclear

fusion ?

(A) Two helium nuclei join to form a
hydrogen nucleus.

(B) Two hydrogen nuclei join to form a
helium nucleus. : '

(C) Uranium nuclei split and produce
high energy neutrons causing a

chain reaction.

statement

‘(D) A helium nucleus joins with a

hydrogen nucleus to form an alpha
particle.

I AT s TR Fere W1 o

27

(A) T giferm T T6 gIEgIe AT
T o fore e € |

(B) Q grgRH T w diftrw Tt
o % R e € |

(C) L il R 2 € sfes
Fl RN S W & REE s
s AR g ] |

(D) e Eiferm i U 3TEHT HU TN
o ToT0 T BTG I 116 & | e
71




79.

80.

81.

82.

What is detected during Positron
Emission Tomography (PET) ?

(A) Positrons (B) Electrons

(C) Neutrons (D) None of these

o T ST () 3 S
TR 7

(A) wifsre (B) soEg

(C) =g (D) FHEHE T

Which of the following radioactive
isotopes has the longest half-life ?

(A) Uranium-238 (B) Rubidium-87
(C) Potassium-40 (D) Carbon-14
FreferRae & 9 e W aveenfres &)
aef-31rg e ot B 7

(A) Them - 238 (B) wiafeam - 87
(C) MPEw-40 (D) HrET-14

MCB in electric circuit stands for

fogm v d MCB %1 374 R 84.

(A) Miniature Circuit Breaker
(B) Maximum Current Breaker
(C) Minimum Current Breaker
(D) Molar Current Breaker

Electrical resist‘ivity,of a given metallic
wire depends upon

(A) its thickness. 5
(B) nature of the material
(C) its shape

(D) its length

foreht fow e g & AR ) R wRwea
ER T TG |
(A) FEh! HIer W
(B) @it i Wi «
(C) 8% FATHRN T
(D) THH saTg W

TR VARG AT RSN RSN LSOO TGS TSR

[y
L

83. A fuse wire repeatedly gets burnt when

used with a good heater. It is advised to

use a fuse wire of

(A) less length

(B) more radius

(C) more length

(D) less radius

T TS0 BT % H1Y ITANT S T RS R
TR T T | 3 R AR
1 ITAN T HI FAR G TR

(A) T

(B) i R

(C) e wiard

(D) 9 B

Which one of the following is NOT a
greenhouse gas found naturally in the
atmosphere ? '

(A) Ozone

(B) Nitrogen Oxide

(C) Carbon Dioxide

(D) Methane

, Vvﬁt:rf%vrm 78w @ s gaE §
Tehforeh &9 @ 918 W aredt diererew N e

27

(A) SN

(B) TR SwETse
(C) e STEATHATES
(D) HH

85.

- 86.

87.

() hinders

The  major
is .
(A) Hydrogen peroxide

(B) Chlorofluorocarbon

(C) Peroxyacetyl nitrate

(D) All of the above
pricRanicanErckain 21
(A) TTEGISE WS

(B) FARIGISTRIHIET

(C) waTeAfaRe e

(D) 3ulrm &t

photochemical  smog

Which of the following is not a
constituent of DDT ?

(A) Carbon (B) Fluorine

(C) Chlorine (D) Hydrogen
frfrlea § & S S ek Ten R 7
(A) HTE (B) TR

(C) A (D) BTEESA

The presence of Ozone (O;) in the

atmosphere of earth
(A) is advantageous since it supplies O,

for people travelling in jets.

(B) has been responsible for increasing
the average global temperature in
recent years.

(C) helps in checking the penetration of
ultraviolet rays to earth.

higher rate of

photosynthesis.

geeft % Frareer 7 FSH (0,) Y iRty

(A) WRIGHE § FAfF T8 Je F B FH | 9p,

S I o6 T O, Y amgfd T R |

(B) & & anl ¥ wa s amum
wgH % forg e @ 2 |

(C) Tt | e Rl % yawm
s A T wET R

(D) ehTSI-EYeTT Sl I €0 H S Sretal
7

109A E’*%

88.

89.

|
|
l
|
|
|
|
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Which of the following is the cause of
Melanoma (skin cancer) ?

(A) Acid rain

(B) Ozone depletion

(C) Allergens

(D) None of the above

e 8§ @ YR e (TS her) wTmR

g7

(A) I et

(B) 3 @8

(C) T

(D) I & & e el

Sindhu Netra Satellite has recently been
successfully launched using which PSLV ?

Ty 3= e ) T @ e doaet
T ITANT STk THCTATIED T T T
g7

(A) PSLV-C52

(B) PSLV-C51

(C) PSLV-C55
(D) PSLV-C50

What is the full form of ASLV ?
ASLV &1 0 &g 1 § ?

(A) Augmented
Vehicle

(B) Automatic Satellite Launch Vehicle

(C) Aero Space Launch Vehicle

(D) Area Satellite Launch Vehicle

Satellite Launch



91.

92.

93.

‘New Horizons’ spacecraft was launched
by NASA to study which of the following
planet ?

(A) Mercury (B) Jupiter
(C) Pluto (D) Mars
frfoRea & @ fre e 1 TR @ %

o /e g ‘g BRES SaiE-am
=g fem mar o ?
(A) &9
©) =

(B) Fewdfa

(D) W

If the blood of two different groups is
mixed together, what problem is
observed ?

(A) Agglutination

(B) Coagulation

(C) Thrombus formation

(D) Embolism

ofe & srenT-Te Tyl % W W) e o
foren fean s, < wn wwn A R ¢

(A) WA (B) WHITIATH
(C) dmw fmfor (D) waifersy

Who discovered the Iridium layer and
won Nobel Prize also ?

(A) Santiago Ramon

(B) Luis Alvarez

(C) Pierre Curie

(D) Henry Moseley

gifeTm w@ 6 @ fran &t ot Aee
e oft Sftar ¢

(A) SRAM TR (B) TE9 STeIRS
(C) R =gl (D) T AEs

94.

95,

96.

Who invented Bifocal lens 7

(A) Rudolf Diesel

(B) Benjamin Franklin

(C) Thomas Alva Edison

(D) Alfred B. Nobel

TR 8 &1 ATTasHR Bpe= fmar or 7

(A) TSI Eroret

(B) S Shepfer
(C) Him = Yeer
(D) I%hE &, Aaet

Who is the founder of Oceanography ?
(A) Susumu Tonegawa

(B) Matthew Maury

(C) Karl Landsteiner

(D) Alhazen

Which property of metals is used for
making ‘bells and strings of musical
instruments like Sitar and Violin ?

(A) Sonorousness (B) Malleability -
(C) Ductility (D) Conductivity
wfeat 3t fram i srafem S s <
AR T o Tore et o 36 o1 =61 S
frarsTaT € 7

(A) I
(C) T

(B) ameraeeirar
(D) =TereRaT

g%ﬁ 109A

97. First aid is the

98.

help which an
injured person needs.

(A) second

(B) first

(C) least

(D) last

wuftes SUER _ wEwEr § Rwsh

T IS SARE Y HATEIIHAT RN R |
(A) Tl

(B) w94

(C) =™

(D) 3ifem

How‘ can }‘we stop the bleeding from a
wound of an injured person before going
to hospital ?

(A) By applying cold cream

(B) By applying antiseptic directly

(C) By applying tourniquet bandage

(D) There is no first aid for this

T STEETS ST 9§ TEel el wmere =t %

19 Y BN T HETE Y 0 U T § 7
(A) HIFS HH T Y

(B) o4 TWRafes am @

(C) ZHiohe vl o &

(D) T ToTe w18 Trerfires STerR e 2 |

99.
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100.

Which of the following alloys contains a

non-metal as one of its constituents ?
(A) Steel

(B) Brass

(C) Amalgam

(D) Bronze

Frefafea © @ fem fseg 4w s1urg
TF THYCH HEIA AR 7

(A) e

(B) draer

(C) FHaT™

(D) Wi

What is a fainting 7

(A) A response to fear.

(B) A briefloss of consciousness.
(C) A sign of flu.

(D) An unexpected collapse.
Hemamg ¢

(A) e R wRfr
B) I A ERm R |
(C) T W

(D) TF TR g



101.

102.

What is the function of Digestive system
of human body ?

(A) to circulate blood, oxygen, carbon
dioxide and hormones.

(B) to break down and absorb food and
remove waste from the body.

(C) to eliminate a waste product called
urea from the body.

~ (D) None of these

e IR o IS 69 T HE TR 7

(A) T, JTaiST, $Ta SEATRaTEe 3
- g ) gETRE A % o )

(B) WIS & aeT 3 Srasiiya s ot
IR @ 3rafdre = feremr |

(C) TR & i T afE Iee W
T HH F e |

(D) FHAHETE

The endrocrine system works together
with the to maintain the body’s
equilibrium.

(A) digestive system

(B) nervous system

. (C) respiratoy system

(D) reproductive system

IR % T ! ST T % fory et wmefl
ied & oy e wm wE R |
(A) 999 &3

) RSIEEIRE]

(C) A

(D) TS &

TIARINS TSRS AT TAIRIEDSS THALD FKASD NP VIl WSS RIS TS

[
<@

103.

104.

Vitamin B helps the body in

(A) maintaining good eye sight.
(B) maintaining your skin smooth.
(C) maintaining cell health.

(D) All of these

vﬁaﬁqaﬁmﬂtﬁmm%

(A) =3t gfY s T A
(B) 3Rt it ohi et ST T@A A
(C) SHIFITERT TR &TY TE |

(D) Fadt

The simplest carbohydrate is
(A) Dihydroxy acetone
(B) Glucose

(C) Glyceraldehyde

(D) None of these

T T HEEEIE S
(4) S e
(B) T

(©) %w%‘grss

(D) T & 1S e

105.

106.

Which of the following statements is

false ? '

(A) Fats provide insulation.

(B) Fat is the only source of energy for
the central nervous system. _

(C) Vitamin A, D, E, K are fat soluble
vitamins.

(D) Fats form structural components of
cell cytoplasm and cell membrane.

e s SR arrea g ?

(A) €T FYAIH TEH HW & |

(B) =& e fye 9 & forw ot @

| THAT AR |

(©) Refim T, €, 3, & o1 gawis
et g

(D) E1 TR HIRERT-ged T iR
Tereeht & TremTens o TRE |

Which of the following blood cells play
an important role in blood clotting ?

(A) Erythrocytes

(B) Neutrophils

(C) Leucocytes

(D) Thrombocytes

Freferin & & W @ T R W 5

o S # wgeat syftrenT Tl & 7
(A) ThehargeE *

(B) =giftrew
(C) wywiaTsed

|

107.

108.
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What happens when a clot occurred in an

undamaget blood vessel ?
(A) You would bleed to death.
(B) A scab will form on the skin surface.

) Platelets stick to the edges of the cut
and to one another, forming a plug.

(D) The flow of blood to tissues beyond
the clot may be cut off.

=T g1 & 1§ U ST W arfees
SJeRRT & ST & 7

(A) T Hia % foe wrgee™ & e |
(B) T ) WaE UL U quE) & Ste |

(C) wevige e & FrTrt 3R T T @

e wmd €, T R ST |
(D) U5 9 R Fah! 3 T ST TaTE T1ivra
B EHA R |

Which of the following carries the
oxygenated blood ?

(A) Superior vena-cava

(B) Inferior vena-cava

(C) Coronary sinus

(D) None of these

frerfrRs 3 & W st 7% T T8
FCTR 7

(A) i Sr-wrar

(B) THNE ST-ra

(C) SR wrEE

(D) & @ wid e



109.

110.

111,

The neutral atoms of all isotopes of the

‘same element contain the same number

of , .

(A) neutrons only

(B). mass numbers

(C) electrons

(D) None of these

w B g & ool grenfel % oaey
gt # g gen § E |
(A) e =g

(B) ZEM G

(C) g

(D) &7 A I8 &

Radioactive substances do not emit
(A) Helium nucleus

(B) Positron

(C) Electron

(D) Proton

et veref seafvla ¢ ww

(A) Biferam witmes
(B) difvigi
(C) TowRH
(D) SEH

Which isotope of Uranium is used for the
nuclear fission reaction ?

Rfem w1 B oW e e

fyEsT afifE ¥ R s Rem s
27

(A) U-234 (B) U-233

(C) U-238 (D) U-235

112,

113.

§ 114.

22

| (C) Mercury

Which of the following non-metals is
liquid at room temperature 7

(A) Bromine (B) Carbon

(D) None of these
Freferfaa o @ 1= € arerg A & aroEe
WAEAE 7

(A) S

(B) wTEA

(C)

(D) T HEE

The ability of metals to be drawn into thin
wire is known as

(A) Ductility (B) Malleability
(C) Sonorousity (D) C‘onductivity
grge? ) vaw TR ¥ @R W A e

HEATA §
(A) T
(C) BRI

(B) IrEaEiTe
O EISES]

Generally, non-metals are not conductors
of electricity. Which of the given is a
good conductor of electricity ?

(A) Diamond (B) Graphite

(C) Sulphur (D) Fullerene
wrar: 3tengy forga Y =T wd g
§ | Ry d @ wi frge w1 e R 7
(A) g (B) IwrEe |
(C) TR (D) T

115. A non-metal used to preserve food

116.

117.

- (C) Argon and Hydrogen

- (D) A heterogeneous mixture

material is :
(A) Carbon
(C) Sulphur

(B)' Phosphorus
(D) Nitrogen

wre A @ Eire B % e e
HYTY ?:

(A) (B) wiehHRy

(C) FFuR (D) AT

An alloy is |

(A) Anelement
(B) A compound
(€) A homogeneous mixture

s fimarg 8

(A) T

(B) & Hifives

(C) = gmifi frgor
(D) & formmt firsror

Which of the following gases are ﬁﬁed in
electric bulbs ? ’

(A) Helium and Neén
(B) Neon and Argon g

(D) Argon and Nitrogen
Freferfga 8 @ = @ g foeh & gei §

o § 7

(A) Eifem 3 Pty
(B) fafa 3t arrly
(C) i 3 FEgr
(D) 3ri 3 ATggree

TS WMESRIAT SIS AT oINS TMAIGHIAS NTISTOS THATEAES

118. The phenomenon of Discoloration of

119.

120.

marble is due to the

(A) Acid rain (B) CFCs

(C) Smog (D) None of these

TR 3 AR 6w Rewss Hror

27 |

(A) 3= 99T (B) Huwh ,
(© = (D) T 7

Operating system is the part of

, (A), Application software

(B) High level language
(C) System software
(D) All of these

(A) TATehTH HTHERR
(B) = Wi 9IS

(C) Rrwem wiwdom

(D) Faf

PDF stands for

(A) Printed Document Format
(B) Public Document Format
(C) Portable Document Format
(D) Published Document Format

drEs 1 e @

(A) TS TEa ST
(B) mﬁawﬁam
(C) dicset gEaraw IR
(D) Wmmm

109A§;3§§ B





